Inequalities August 30, 2023

Today's Plan:

Learning Target (standard): | will solve compound inequalities and write
their solutions using set builder notation and interval notation.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Operations on Sets Worksheet

4){—10,—9,—8, -7,—6,-5,—-4,-3,-2.—1,0, 1,2,3,4,5}
{x|-10<x<-5,xeZ}

5){x|2<x <15} I1NANB =Y
6){x|3<x<20,xcQ} 12)AﬁB={x|2<xS4}
NAUB={-3,2,-1,0,2,34,56789} 13)4AnB={x|-1<x<6}
8AUB=R

9NAUB={x|-4<x<5}
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Operations on Sets Worksheet
14)AUB=R
ANB={x|2<x<5}
IS)AUB:{x|x>—5}
ANB={-1<x<7}

18)AU B ={x|0<x<10}
ANB={x|2<x<5}
194UB={x|-6<x<4,x>7}

ANB=9
16)4U B ={x|x <6} 2004V B ={x|x<-3,x>4}
ANB={x|-3<x<-I} ANB=0

17)AUB ={x|x <8}
ANB={-1<x<2}

Graph the union and the intersection. Find the solution set of each.
A:{x|—2<x<4}-
B= {x | x < 1} o

BvB=2x X4 %,
AcD=2x| Z<x<iZ

10 9 8 -7 6 5 4 3 2 1 0 1 2 3 4 5 6 7 8 9 10
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Graph the union and the intersection. Find the solution set of each.

A={x|x>2}+
B:{x|x£5}-

8 7 6 54 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10
nm-

B B=3X|2<x=3%

-0 9 8 7 6 5 4 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

Graph the union and the intersection. Find the solution set of each.

A={x|x<—3}o
B:{x|x>2}n

g 8 -7 6 5 4 3 -2 -1 0 1 2 3 4 5 86 7 8 9 10
Aud= EX\X“3 X‘Zg
10 9 8 7 6 54 3 2 -1 0 1 2 3 4 5 86 7 8 9 10

ALB=T

10 9 8 -7 6 5 -4 3 2 -1 0 1 2 3 4 56 7 8 9 10
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Compound Inequalities:

» Inequalities are solved similarly to equations, but division/multiplication by
a negative changes the direction of the inequality

» The word or means the same as the union of the sets (disjunction)

» The word and means the same as the intersection of the sets (conjunction)

» The solution to an inequality is always a set of possible values

Solve. Write the solution as a set and an interval.

2-2(7-2x) <33 -x)

2-WH+Yx < 9-2x

-124+4x <9
- |2+7x4g7x 3x|x3%

e

9 -8 7 -4 2 1 0 1 2 3 4 5 6 7 8 9 10

okt O™ (omn
( Lo, mbe]) [ -cord =
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Solve. Write the solution as a set and an interval.

10-13(2—x) <5(3x—2)
I0-2le+12x 2 \ X -1D
-1l +BX <15x-10
-14-2x<-\0 le X> —~4
-2%< g (-

x>

10 9 8 7 6 5 4 3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

Assignment:

p.74 #4 - 40 (by 4)
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